EARAZROREIERT — 2 N—XBISY —F 2019548170 (k) 1[@EIF5I11H

B3 EC4—3 C4 5% —% \ [%2] % \ [eErmE] — | 4 (&) 12000 &
[AE£] 1 %:250,000 ~ 237#&:50,000 ™ ~ 3#&:38,000H  437#&:25000FH ~ 57&:12,000 H
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
=1 XTE-F 4 #ﬁ%ﬁﬂ 1:(1_8).5 1-1 a5 — | 1 | 488 igiﬁ (ki)
QiAT—RTPAOL BiE—FT4 X t36) | %m w9
— = BT 19. - a1 - 28R (Ed)
N=ZJ)5T« + 6 56.0 1 (1;9) 3 4-4 421 6 4:2)2 Wﬁi{; i 5E)
RV TATIA K B:ELTzA—LI A L
RS : - - HEEFM (tigs)
NFT—JHT T # o5 | HTH (17;1;;% 6-5 4.7 2 <5+183) HEEn 3]
RiYLRYZYRIR B:TLVr—HTz L]
7ROFT)—/N> i 4 gﬁﬂ‘gﬁfi (171;73) 1-2 23| - 3 | 488 %é;ﬁﬂfﬁ (Atmd)
X TROXLTEL BiZS =T a 12 | =Y ran
o 410 | HLERE 1:19.6 1-2 26| — 5 586 | MIiEAFE (AtiEE)
5011179V 56.0 1 1/2) 1) NELR=—
LR THLTF— B RNS—y K REHS
S : -3 EATA :20. - 9| — AAEE (uEE)
6ls|s|posny—xAs SRR upe s |es| - | e | e EEeW G
LXK a7 BioqA T - BEERS
'S j i ETHE : - - BO%E (B
70771759y 97L—" # 5 | BF 1.(292).3 7-7 42.7 7 (igg) ﬂ};% B
R:TIvIaXY—K BFATLY— RS
® I —F—EBIERL
13—3+—
A==
30—4— (1,2,4),6,5,3,7
40—F— 4,(1,2),6,(3,5),7
[ N3
H OB 4 150M 714K 4-6 820M B = 4-6 3,780M 3EHE 3-4-6 2,450/
8 B 4 120M 3-4 180M B H 4-6 3,110 K31 4-6-3 11,100M
6 750 3-6 970

ABICOVWTRDTEEERROODE. TR LIV,



